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b) EAMACS  flBEV,  GiE CA, =V,sinb, -

(c) BLEMABAE » #18E B4, =V, » 4EE EA, =V,sing =V, sind, -

(d) 4 EE DA, = DE+ EA, » 14 & CA, =DE » 15 DA, = CA, + EA, -
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HE N BENEE A4,4,B > I BB A TGRS Q=7-4, -
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4B _Ad_ 1,
sing sinQ  sinQ

(c) ¥ ABA A= > H5IH 3.0 IEZ E M GHE

= ﬂsinQ:TQsin¢ =  A,BsinA4, =-V,sin(4, +4,)
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dysind = dsin( 6, +6,) =V, sinf, + (V, + 4,B)sin6,

V,sin(4, + 4,)
sin 4,

=  d,sind, =dsin( 6, +6,)=V sinb, + (V, - )siné,
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sind, sin(6; +6,) sin0, N sinf,  Visin(4, +4,)
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b) #EMMACS  #BEV, » $EE 4C=V,cosb,
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E=AB-BE - 1435 AD-AC —CD-AC+BE—A4,B -

II
&l

@) 4pECD

12 BINENER 4B4A,nERAHEAG P EFRACANHEHHE AR
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AR R (DA Q) ELEE - (DA —EIE Ay =UIH - S w2 6k 2 (E B 4
YRR EpE o 0 (7)FUAYRF A & 5 R 52 THIY 7 BE S Ry A E W IRy 8 R okt > B
FZaXHEAFENAE - BE - HAKEHZH RATESMify |

B. — &P Vi L B THA Y & 57 A R X (E B (5 05 2 U
T L YR HAE R = E THR R B T ((E B L A, By & A H T 5 2 8

1. BEN=/AF 44,4 REZENER ) WER A 2 EEEERAOT

[1.1]1 5 | fRE P2 THE A BB EEA - KE 13 -

-56 -



Al

() HEEBERE AA, EFAEFEMCH B B> RE 13,0 FHes B B 4% 58
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(d) X
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Vi __ 4B
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i (c).HY A4CTE@(<1).E’\JRﬁ*%ﬂlﬁl*ﬁﬁ/\iﬁ%ﬁ%ﬁqj TR AIRA AR S
V,sin(4, + 4,)
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